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(4] Answer the following questions. (71 20 /)

(1) There are two populations: P, and P, of a diploid sexual organism. In population P, the frequency of allele
Ais02. In population P, the frequency of allele A is 0.8.  10% of the individuals in either population in any

generation are migrants. What is the frequency of allele A in populations P, and P, after four generations? (6

YA

(2) What is the effective population size of a population containing 10 females and 1 male? (7 &)

3) Imagine an autosomal allele that is completely recessivé and fethal when homozygous in a population of a
4 g pop

diploid sexual organism. Assume that the allele is maintained by selection-mutation balance with mutation

rate 5 x 10°, Calculate equilibrium frequency of this allele. (7 /2
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